ER-IRB/AREE-FR AH6E5 23R HE
E— EEREE REXIRE
R T HX RIRFT
EEw —RESEE RIRF
TR B2 EHT-HIs | JLARBR
- EKE) |[Ran=akEE |21
(TWKD) |tEmEEREE |-
R EIEMEXE LA )IRE=105 AL 7H=99, EZ/AH=77
ok %ﬁg_ﬁ*‘ WHENGFE=(11, 9.4), TEIIFRE=(19, 16.6)
_— f5££§*$ﬁ N, RN REIE) - RE [ E- F 58]
FE E 5 EE 20m/s
REE FHRE 20m/s BEES
XE BEDES 2B BB E ) e 100m
ROR 5EEE
=8 B _
- REMBIENEE |14
TIEMESEREE (114
GEmEEREE [ILA)IRE=84, KEJIFHEE=79, E£)IIHE=6.1
- WA IGRE=(11, 7.8), KIEJIFRE=(7, 7.9),
oK wae ZRIFl= (11 149)
B PMPATR s i), eIkl - S8 (= F ki)
58 i, E 5 EE 12m/s
BE FHEE 12m/s BEED
XE BEDFES 2B E O ab50m
BB RS
EER =5 B
B BEE I LUREATEINIBE
mE
RE 1812 [100m
BrI% BI/INTE40% CTEMZE60%
- QEEDREE0cmLl EHYBERBI10°CLL EF - EMAEY DR "2
2 BESE-5CLT
5 BRE RES R CLLT
&K
aa 24B5REE E DFES : Eih20cml b 1LH#140cmEL L
== £38:-2°C~2°C
e PN TBRE T100mm

NEREREEYN RERSIER OHEASHhEICLAREEERLTIET.
*? SERARERSREDIHE,



